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Q.No: 1 Brihadesi, a book on Indian Classical Music, was written by

2427055
R At WTild R OF g geast F g fordt 75 o
Bharata
A
HId
Matanga
B
e
Sharangadeva
C
R
Haripala
D
ghara

Correct Ans : B

Subject : General Knowledge

Q.No: 2 Which of the following trophy is not related to cricket?

2427524
o 7 3 o1 < gt fivde 3 wwifa & 82
Ranji Trophy
A
ol gt
Irani Trophy
B
= gl
Syed Mushtaq Ali Trophy
C
JurE g ol Swt
Santosh Trophy
D

e
Correct Ans : D

Subject : General Knowledge

Q.No: 3 Select the incorrect statement about 'Rowlatt Satyagraha'-

2427975
RIS FAWE' S IR T TId HYH BT 4T HY-
It was called on by Gandhi Ji against Rowlatt Act
A
T e St A WAde vae F fEare o ar
The Rowlatt Satyagraha turned out to be the first all-India struggle against the British government
B
e wame e e & e e ofE Hrd wad frea
A large number of villages all over India took part in this satyagraha
C

e JanE Bty WeR & Reamr gar sfee yRdT Jof e
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6 April 1919 was the day to observe hartals

6 3l 1919 gSdrd &I fa T

Correct Ans : C

Subject : General Knowledge

Q.No: 4
2427996

The wrong statement about Chakravarti Rajagopalachari is-

Thad! ISR F R B e FUF B-

He was the leader of the Salt Satyagraha in the south

g a0 § 9T GAE T AT ¥

He served as a member of the Interim Government of 1946

I%I 1946 Bt AT WEPR F Y@ & T4 F a1 fovar

He was free India’s second Indian Governor-General

5 W YR F R YRAK Ta-R-oRa &

He was one of the first recipients of Bharat Ratna

98 YRA I & Ugd Uaediel § ¥ T ¥

Correct Ans : C

Subject : General Knowledge

Q.No: 5
2430697

Which trade is done by two countries with each other?

S 3T MY & HH-FT AR IR 82

Multi-lateral Trade

wg-udf IR

Wholesale Trade

i IR

Bilateral Trade

feuefa amR

Entrepot Trade

Correct Ans : C

Subject : General Knowledge

Q.No: 6
2431022

Hampi Festival is one of the major tourist attractions of -

Tt IR % yirE wdes amepdul § 4 1
Bihar

fRr

West Bengal

ufie s

Karnataka

Fled

Assam

"

Correct Ans : C

Subject : General Knowledge

GET IT ON

Google Play
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Q.No: 7 How much aerospace and defense goods and services the Indian government has set a target to export by 2025?

2434489
2025 T YR WHR T a1 RRA 3R &1 axgslt 3k Jarsht F fafa o1 asa war g 2
35000 crores
A
35000 TS
50000 crores
B
50000 RS
10000 crores
¢
10000 TG
5000 crores
D
5000 TS

Correct Ans : A

Subject : General Knowledge

Q.No: 8 Who among the following started the policy ‘Doctrine of Lapse’ to annex the independent states?

2435721

Froffea & 3 fre @i Il 1 T & fog o Rigia i g @1

Lord Dalhousie
A

TS st

Lord Wellesley
B

S adrelt

Lord Auckland
c

e sifadis

Lord Canning
D

@iré S
Correct Ans : A

Subject : General Knowledge

Q.No: 9  In which of the following continents is the Andes mountain range located?

2435814
S wda Aot frafafea 7 & fre meda A R@ ? 2
Australia
A
Sfiefrar
Europe
B
T
North America
C
IWR AR
South America
D

afgror sfeat
Correct Ans : D

Subject : General Knowledge

Q.No: 10 Commonwealth games 2022 will be hosted by which country?
2440823

JpHiEd @d 2022 3 Aaar 59 3 gRT 3 gt
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New Zealand

A
s
England
B
s
South Africa
c
Gfaror anptesT
Sri Lanka
D
Biccat

Correct Ans : B

Subject : General Knowledge

Q.No: 11 Which year the match between India and West Indies cricket World cup was played in Captain Roop Singh Stadium?

2440934

FHH ¥ Rig ®f$am # 4Ra R IwesSla fvde fay s & &g o af 9 S mn e

1991
A

1991

1993
B

1993

1996
c

1996

1998
D

1998

Correct Ans : C

Subject : General Knowledge

Q.No: 12 In which year did Ujjain pass into the hands of the Scindias?

2441141
IooH {5 af Riftrar & gl & =an mam?
1748
A
1748
1749
B
1749
1750
c
1750
1751
D
1751

Correct Ans : C

Subject : General Knowledge

Q.No: 13  Where is the Taj-ul-Masjid located?

2441186
- 3a-TfTE Fel fRud 82
Bhopal

A
it

B Indore
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R

Gwalior
C

iR

Jabalpur
D

SRR

Correct Ans : A

Subject : General Knowledge

Q.No: 14 In which city of Madhya Pradesh Kailash Satyarthi was born?

2441301
T gl $1 91 79 U & g R # gon ur?
Bhopal
A
e
Sagar
B
R
Rewa
C
ar
Vidisha
D
fafeam

Correct Ans : D

Subject : General Knowledge

Q.No: 15 As per area, Madhya Pradesh is the 2nd largest state in India after

2441441
FEAS IR, AAWRY P 915 YRd BT IR AG §91 I B
Uttar Pradesh
A
IR W
Rajasthan
B
REIIE]
Uttara Khand
C
RS
Gujarat
D
ORI

Correct Ans : B

Subject : General Knowledge

Q.No: 16 How many territorial forest circles are there in Madhya Pradesh?

2441565
A 7 # ey a1 ga 82
76
A
76
64
B
64
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23

16

16
Correct Ans : D

Subject : General Knowledge

Q.No: 17 Gwalior High Court was accommodated in a building known as 'Technical School' situated at Jayendraganj, Lashkar in which of the following year?

2441703
IR S T P AP b s 3 T ‘T-iiopt 1@ & M F 9 o 90t e # Fofafaa § 9w o saaife fran man ar?
1934
A
1934
1937
B
1937
1941
'
1941
1956
D
1956

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Madhya Pradesh assembly building was designed by which of the following architect?

2441779
e wox fyrayT yaA Fofifed | 3 50 arger gr1 fEemg fasar wr are
Architect Charles Correa
A
DR =1 B
Architect Edward Lutyens
B
TR TETE ghedw
Architect John Marshal
C
AGPR S A
Architect henry Irwin
D

IRGPR T R
Correct Ans : A

Subject : General Knowledge

Q.No: 19 Who is the principal secretary to finance ministry in Madhya Pradesh?

2441851
T TN A R Ao & v wia o 87
Mr. Jagdish Devda
A
ot st ST
Dr. Manoj Govil
B
3. T fae
Lokesh Kumar Jatav
C
B FHAR Wredt
Irene Cynthia
D

el R

Correct Ans : B
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Subject : General Knowledge

Q.No: 20  As per budget 2021-22, per capita GSDP of Madhya Pradesh is higher than the corresponding figure in 2018-19.
2441870

e 2021-22 F HTUR, AL U Bt U Afda oeweidt 2018-19 H_ @t af@ |

4%
A

4%

6%
B

6%

8%
c

8%

10%
D

10%

Correct Ans : B

Subject : General Knowledge

Q.No: 21 The impression of an image/jpg persists for of a second on retina.
2425788

R AU R @G IGSF_ RRATw T wd R

Ly

16

¥
6

Correct Ans : A

Subject : General Science

Q.No: 22 In thermodynamics, which process includes no change in temperature?

2425913
SRR §, frw vftsar & a8 S aRkady T dar 8
Isobaric Process
A
e X v
Isothermal Process
B
FHATR T
Adiabatic Process
Cc

TE v

D Isochoric Process
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Afipee wHr

Correct Ans : B

Subject : General Science

Q.No: 23 What is the scientific name of potato?

2428804
I T AP A FG ?
Solanum nigrum
A
W e
Solanum tuberosum
B
e egaaH
Solanum aestivum
C
e SifeH
Solanum causatum
D

e BideH
Correct Ans : B

Subject : General Science

Q.No: 24 Which one is not important for maintaining the ecological balance?

2429244

iR Wge ST T & Riw B a1 wewgef e 82

These maintain ecological balance by regulating the supply of natural resources.
A

3 yrpfae el @t smoff @ fafafia Fv wikRufae Sgem o W& 8

It also provides the necessary nutrients like minerals, water, etc.
B

Tg HaRF WF acd O @i, art 3nf ot e e 81

It provides water to water shortage areas .
C

T TR BT A AT & Y AR R bl B

It also maintains the trophic level of the food chain .
D

g W §@dol & Ul W 1 o &Y T 21
Correct Ans : C

Subject : General Science

Q.No: 25 Spirogyra’s occurrence is seen in -

2429890
TR 1 9 Gl & -
bottom
A
=
attached to the stones
B
TRl A eI g ®
found over the surface
C
g U U T
suspended
D
Feifea

Correct Ans : C

Subject : General Science
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Q.No: 26 Observe the following figure given below. This organism belongs to which phylum and class?

2429911
phylum -Chordata, class — Osteichthyes
A
PR -PrSal, T - AR
phylum - Hemichordate, class- Chondrichthyes
B
TR - dH@IS e, - AifgaR
phylum Aves, class- leptocardii
c
BRI 149, Y- A
Chondrichthyes, class Gnathostomata
D

TR - TSEAE, T TR
Correct Ans : A

Subject : General Science

Q.No: 27 Sponges belong to

2429970
T P §
lower non-chordates
A
FaiR-aiEcE
higher chordates
B
I TS
mid chordate
c
A" Pisc
hemichordate
D

FLica TS
Correct Ans : A

Subject : General Science

Q.No: 28 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430131 the correct answer to the question from the given options.

Assertion (A) : Natural fibers are fibers obtained from natural sources like plants and animals.

Reason (R) : Synthetic fibers are the fibers which are prepared by human beings in laboratories.

P Fmfafed gy # < $F € e @ @ 9 ety ok g @ "SRU & wU H daa 5 T 81 o) 3 S Hul @) Sraurigde oig St @ o 3T e fawedt # 9 uy &1 9 SW
SHNHUT (A) : THfID I Deff R RIS Wipfae il ¥ 7 32 8 81
F (R) : AN Y 7Y & T vy R wrivirenadt # QR i s g1

Both A and R are true and R is the correct explanation of A.

A 3R R EFl 90 § iR R, A B T o T 21

B Both A and R are true but R is not the correct explanation of A.
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A 3R R S T4 & A R, A T TE omren T8 FRar gl

A is true but R is false.

A Td ¢ AP R 3 1
Both A and R are false.

A 3R R S 3 &1
Correct Ans : B

Subject : General Science

Q.No: 29 Burning of sugar causes a ______reaction.
2430206
ERIEACREE:] wiafdar gid 81
Endothermic
A
SIS
Exothermic
B
FEgh
Physical change
C
e wRads
Chemical change
D

RS ufad

Correct Ans : D

Subject : General Science

Q.No: 30 ___ are substances that are easily able to flow.
2430380
v § S ST & 957 § wam §)
Pressure
A
Eric)
Momentum
B
T
Fluids
(o}
&= warf
Buoyant
D
Eoicea

Correct Ans : C

Subject : General Science

Q.No: 31 When the breakdown of occurs with the use of oxygen it is called aerobic respiration.
2432175

S 1 fgeT siffior & IwrT gR1 Sl §, 0 9 aradia 4 Fgar gl

Protein
A

pcic]

Glucose
B

Escar

C Vitamins
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Fats

CLll
Correct Ans : B

Subject : General Science

Q.No: 32 is a unit of inheritance in living organisms.
2432190
Sifad Sfidl & dIg6H & b 378 ¢
Nucleus
A
fTa
Sperms
B
RiEQL
Eggs
c
£
Gene
D
it

Correct Ans : D

Subject : General Science

Q.No: 33 Which of the following is NOT a sign of good mental health?

2434274
Pl § 9 35 o WAk Wred #1635 78 87
Having control over the emotion of own self
A
WG Y HIET W R T
Being under confident
B
ARy & HH S
Being sensitive towards others
C
TR & i JaeTie @
Having the ability to face the difficulties of life
D

e 3 Bl ST U B B T G

Correct Ans : B

Subject : General Science

Q.No: 34 Scabies is an ailment of the -

2434303
Wi ot dArt 32
stomach
A
e
veins
B
T
kidneys
C
i
skin
D
CEl

Correct Ans : D

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Subject : General Science

Q.No: 35 Which of the following diseases are caused by deficiency of Vitamin C?

2439969

fyerfem ¢ # ol | A & § SH-T1 37 D 82

Scurvy
A

&t

Rickets
B

CIEEED

Cholera
C

&

Malaria
D

TR

Correct Ans : A

Subject : General Science

Q.No: 36 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422649 should be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

aab__caa__bbcaa__b__caa

Frofafd g 7 oierl 3t T gaar f T {1 37 daanel ¥ 79 ¢#ER o U T R, o 3 guan & Y Ry fawedt 7 3t o § ¥ R S € aifgw) R T U AR fiwedt # 9 f i g &
ST HY IR JE F G HERT F WH W 7 [ved Tl &l T Iugad g1l

__aab__caa__bbcaa__b__caa

abaab
A

abaab

cabab
B

cabab

bccaa
C

bccaa

bcaaa
D

bcaaa

Correct Ans : A

Subject : General Reasoning

%"‘12%43079 Select the option /number which is related to 3" number in the same way as 28 number is related to a
1st number?

30 TEAT [faeT & TU Y S el TEw ¥ 3 yeR TEd § S gud der ggel

HEaT ¥ @ERa ¢ |
3:39:6:7
216
A
216
258
B
258

C 180
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180

36

36
Correct Ans : B

Subject : General Reasoning

%"“2‘243230 Select the option /number which is related to 31 number in the same way as 224 number is related to a
[t number?
15:124:17:?

3@ TEAT [faeT 1 T F S AW TEw @ 5 9HR wefd § A @l s ggen
T ¥ weled ¢ 1

15:124:0:17:?

47

47
288

288
344

344
342

342
Correct Ans : D

Subject : General Reasoning

Q.No: 39  Select the Lettered pair that has the same relationship as given in the questions:

2426825
Protagonist : Character ?
I 3&R G P19 B et ey well 7 Ry e uwH ey 9 3
AT - AR ?
Earth : Moon
A
Tt = <gAr
Termite : Insect
B
& : Ble
Lizard : Housefly
C
o : Frewws
Whale : Fish
D
/A : IOl

Correct Ans : B

Subject : General Reasoning

Q.No: 40 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429554
GIKN : HKNR :: DGIK : ?
39 e BT 797 B o RN U § I THR e ¥ R o Ue IR Ug § e @
GIKN : HKNR :: DGIK : ?
EHLO
A
EHLO

B EILO
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EILO
EHMO

EHMO
EIMO

EIMO

Correct Ans : B

Subject : General Reasoning

Q.No: 41
2429596

Rahul and Robin are brothers. Pramod is Robin’s father. Sheela is Pramod’s sister. Prema is Pramod’s niece. Shubha is Sheela’s granddaughter. How is Rahul related to Shubha?

g IR W g ¥ v, e & e §1 <o, weiie 7 aga 31 0, weie 3 ol 31 g, <hen 1 didt §1 g, o @ R weEh §2

Brother

uig

Cousin

FRA

Uncle

Bea)
Nephew

LGic

Correct Ans : C

Subject : General Reasoning

Q.No: 42
2433151

In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
the blank space that is originally related to the sequence of that series.

A6l, D5K, F4M, H30, J2Q, ?

FProfefaa wy &, Semeh m Rt 3t ue Fia gaa & 7 @, S 3t T gl §1 U6 78 99 S @ 6 09 w0 I 99 4uar & o 3 Gafid Rad =i § IW 3 $H G s gae
IR faan s

A61, D5K, F4M, H30, 12Q, ?
L1X

L1X
L1Z

L1Z
L1S

L1S
L2S

L2s

Correct Ans : C

Subject : General Reasoning

Q.No: 43
2434087

A specific analogy is given in the question below. Understand the logic behind it and choose the correct option for the next part:

G

34 | %A:

Y
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i for e 3 o fere wrgem Pt &) 7§ oF A1 At i s e g

@(}: 34 | %A: ?

28
A

28

27
B

27

25
C

25

30
D

30

Correct Ans : B

Subject : General Reasoning

Q.No: 44 Select the figure that will come next in the following figure series.

2434138
@ 4 el O

O moo @

I9 3Pl 1 98 B Sl Ffiiad enpfa gaen 7 ot smarhi
@ O = O
O moo @

ne neFe Fe
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©

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434907
14:98::16:7?
I fade &1 797 B S IR T St veR el § 9 get W, ueeht Wem @ weld 31
96
A
96
90
B
90
81
C
81
88
D
88

Correct Ans : A

Subject : General Reasoning

Q.No: 46 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.

2435027
o IR iR wgl # ¥ & we Fida 0 3 w9F § okt o 1 favw 9
INSY
A
INSY
AEJP
B
AEJP
CGLS
o
CGLS
FIMR
D
FIMR

Correct Ans : D

Subject : General Reasoning

Q.No: 47 Identify the classes that best represents the relationship among the given diagram.
2435621

3 a7 Bt UgEH B off 3T TN ST & i Wy &1 g w1 glafid ad &1
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Students, teachers, class

A
BH, e, e
Season, autumn, winter
B
Ao, R B, T
Car drivers, Human beings, women
C
PR TP, HI, AR
Crops, Pulses, Rabi
D

B, e, Wl

Correct Ans : C

Subject : General Reasoning

Q.No: 48 Identify the diagram that best represents the relationship among the given classes.

2435670
Play store, Apps, Facebook
I T P} UFAH B N T MY AR F e Gy 1 aed st wfafAfia a2
w ¥R, T, Bags

A

B

C

D

Correct Ans : B

Subject : General Reasoning

Q.No: 49 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
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2438681

>

@

I T ol 3 g T Y@ W @ 9, @ T e rpfidl 8 4 $F-30 w8 gdor s gz

&)
KN
Ak,

|

k-
b
I
I

Correct Ans : A

Subject : General Reasoning

Q.No: 50 A is brother of B and C. D is mother of C. If E is father of A, then which of the following is definitely not true?
2439309

A, B3R C %1 4§ 81 D, C &1 Arar 31 3} E, A &1 fran &, ) Fufofes & 3 o9 Al w9 3 vg = 82

A B is son of E


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

B, EBI Y

E is father of B
B

E, B B a8

D is wife of E
C

D, E ¥ Udl §

Ais son of D
D

A DTS
Correct Ans : A

Subject : General Reasoning

Q.No: 51 Ansh is brother of Daksh. Daksh is son of Vansh. Vansh is father of Varun (a male). How is Varun related to Ansh?

2439335
ST G BT TS B 1 38 I HT YA 31 I II0T (TH YY) T e §1 a0 oiw | R R efda 32
Brother
A
uig
Sister
B
Egl
Brother or Sister
C
T o T5
Can’t be determined
D

Feiia =1 favar o wwar

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440192 |ggjcally consistent with the main statement.

When you earn, you spend on clothes lavishly.
A. you are earning

B. you are not earning

C. you are spending on clothes lavishly.

D. you are not spending on clothes lavishly.

T MU gy B g Ho SR IUF 918 IR B §1 HUHT B Hd I g, T8 U5a BT B IR g FUH A 7, R & FUF dIfhd TU Y BT FUF A A 7
T 3T FAN §, A MY UG | THIR T R 21

A. 3T FHTIE §

B. 34 HHTE T 9 I §

C. 31U BYS| W SHB @Y &% B 8l

D. 39 HUE R =T WY &l IR W ¢

AC
A

AC

BA
B

BA

DA
C

DA

CcD
D

CD
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Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440299 logically consistent with the main statement.

You feel gratified when you achieve your goal
A. You achieved your goal

B. you did not achieve your goal

C. You felt gratified

D. you did not feel gratified

R Ty § 1 T SR IIF G TR FYA &1 FYA BT BT G I, T U HU 1 A R FYF B 8, ofR @ wy Aifdd w1 .1 Y § W B
T T ST T B W B § A ST Py Teqy PR §

A, 3TO ST T8 B &R e

B. ST SO w1 Bt TeT e

C. U7 Fag Hegd fFar

D. 31U TJY HegH 7ol fobar

AB
A

AB

BA
B

BA

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440346 logically consistent with the main statement.

This phone is based on either android or I0S
A. This phone is based on android

B. This phone is not based on android

C. This phone is based on I10S

D. This phone is not based on I0S

f3T 0 vy § 7 U SR I9F TG IR FUA §1 FU PP IH T, TR U6 S P a0 g $YA G 8, IR A T A T F BT B T I 81
T W A1 ol android T 10S W 3MTRG §

A. T8 B Tgias W 3nuid §

B. 8 B Tgias W aneikd el &

C. T8 B SISy W aeied §

D. T8 TH 10S W 3ufed el &

cD
A

cD

DA
B

DA

CA
C

CA

AB
D

AB
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Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.
2442005

Green : Colour
faw g faspedl § & Heifdd Wea 10 B

ISURRYl

Pink : Car
el HR

Ants : Insect

Tree : Wood
T8z TPt
Grass : Insecticide

D ura:

Correct Ans : B

Subject : General Reasoning

QNo:56 3 (6. 12 21
2422416 Simplify:> + {; + (E + —6}}
R st 2 4 {f+ & -—}}
7 7 13 26
2
6
A
2
6
16
7
B
16
7
E
C
E
4
1_1
3
D

1
3

Correct Ans : B

Subject : General Maths

Q.No: 57 Arjun borrowed a sum of Rs.8200 from Anil for two years. If the rate of interest is 7% compounded annually, find the amount that Rakesh has to pay back.

2423628
3T A e A 8200 FUA | A & T IUR el Al s B R 7% affe TU F WK 8, D 9T B 9o Yiar a1 5 ardt IR 3 Sk
Rs. 9213.52
A
Rs.9213.52
Rs.6023.311
B
Rs.6023.311
Rs.9876.321
C
Rs.9876.321
Rs.8124.651
D

Rs.8124.651
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Correct Ans : A

Subject : General Maths

Q.No: 58 A sum of money deposited at 9% per annum compounded annually becomes Rs. 9870 at the end of 2 years. Find the sum deposited

2423653
9% ufd I F &R ¥ 51 @1 7 I Ififer T F TR R 2 7 F o H 9870 U F W {1 T B I AR T v TG
Rs.8307.38153
A
Rs.8307.38153
Rs.9870.4576
B
Rs.9870.4576
Rs.1265.1765
c
Rs.1265.1765
Rs.3214.3890
D

Rs.3214.3890
Correct Ans : A

Subject : General Maths

Q.No: 59 What will be the compound interest at the rate of 6% per annum for 3 years on that principal which in 3 years.at the rate of 6% per annum gives Rs.5436 as simple interest?

2423668

I e W 3 qY F I 6% Waad Ft R F Tl s a7 dm S 3 38 A 6% Ui 9 3 @R | T.5436 WURY A F w0 H

Rs.1709.345
A

Rs.1709.345

Rs.1585.664
B

Rs.1685.664

Rs.5768.6832
c

Rs.5768.6832

Rs.7634.231
D

Rs.7634.231

Correct Ans : C

Subject : General Maths

Q.No: 60 Solve:

2428553
16+4—-4 +25x4-75+25-50f6
BAB:
16 +4-4+25x4-75+25-6aI5
90
A
90
94
B
94
67
c
67
99
D
99

Correct Ans : C

Subject : General Maths
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Q.No: 61 Solve:

2428634
[24.6 + 35.5 + 5-29.2 of 6 + (44.4 + 4 + 56.8 of 7 - 57.59 x 3)]
ks
[24.6 + 35.5 -+ 5-6®129.2 + (44.4 + 4 + 7 ®1 56.8 - 57.59 x 3)]
92.43
A
92.43
-147.93
B
-147.93
150.93
C
150.93
147.93
D
147.93

Correct Ans : A

Subject : General Maths

Q.No: 62 Express the following ratio in the simplest form.

2429414
2581 : 1270
ST P Wead ¥ H oJad B
2581 : 1270
2581 : 1270
A
2581 : 1270
1365 : 1876
B
1365 : 17876
5098 : 1976
G
5098 : 1976
3451 : 1432
D
3451 : 1432

Correct Ans : A

Subject : General Maths

Q.No: 63 If the heights of males in a group are 5.5, 5.3, 5.7, 5.9, 6, 5.10, 5.8, 5.6, 5.4, 6. Then find the average height.

2432514
I} U@ A § gFW 3 @ 5.5, 5.3, 5.7, 5.9, 6, 5.10, 5.8, 5.6, 5.4, 6 §1 @1 3a =S 7 el
5.33
A
5.33
5.43
B
5.43
5.63
c
5.63
5.53
D
5.53

Correct Ans : C
Subject : General Maths
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Q.No: 64 In a family of 8, the men eat on average 72kg of food and women eat on an average
2432531
50kg of food. The men and women are equal in number. A hungry woman named Neetu joined

the family for dinner and the average consumption became 67. How much did Neetu eat (in kgs)?

8 QI ¥ uftaR F, gov Sl 72 el @1 @i § SR aftan $iRiae 50 frar Do @rlh 81 goul ik aftarsh o wen R 31 =i W 9 e 211wl witd g w9 F R ¥ R uRar s
IuuT 67 1 15| g A fraen @ (faselom )2

115

115
110

110
120

120
130

130
Correct Ans : A

Subject : General Maths

Q.No: 65 The average of the two-digit numbers, which remain the same when the digits inter-change their positions, is:

2432584
QY sicpt Bt el 1 3, S ST B RIF B S0 F ST W WHM Igdl 8] S BT AN 741 g
53
A
53
54
B
54
55
c
55
56
D
56

Correct Ans : C

Subject : General Maths

Q.No: 66 (yhat should comein place of question mark in the following number series?

2433070
(16620 — 10221 + 4348 —8569) + 12 =?

Rl dear-gaar § gafueg (7) F a0 9% F=T AT /0182
(16620 — 10221 + 4348 —8569) + 12 =?

175.5
A

175.5

183.4
B

183.4

185.4
C

185.4

181.5
D

181.5

Correct Ans : D
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Subject : General Maths

Q.No: 67 - —_ — =.
2434754 The value of 0.56 - 0.723 +0.39x0.7 {5:

0.56 - 0.723 + 0.39 x 0.7 ] HM JId B |

0154
A

0.154

0.154
B

0.154

0.158
Cc

0.158

0.158
D

0.158

Correct Ans : B

Subject : General Maths

Q.No: 68 Mahesh sold an item at a loss of 10%. If he has sold that item for 15 more, he would have gained 20%. Find the cost price of that article.

2435249
TRY A 10% 3T §I W TP I%g 31 TG 8 9 I DY 15 39 S0P & S9a1 8, & IH 20% TH W G| I I BT AN Jed I B |
Rs. 30
A
30 700
Rs. 50
B
50 T4
Rs. 40
C
40 ¥@
Rs. 52
D
52 ¥0Y

Correct Ans : B

Subject : General Maths

Q.No: 69 The ratio of the incomes of Arav and Babita is 5 : 4 and the ratio of their expenditure is 6 : 5. If the ratio of the savings is 7 : 5, what percentage of his income does Arav save

2435439
HRE R T B 3T BT U 5 @ 4 7 IR S5 T HT U 6 : 5 T I 990 I UM 7 : 5 7, o 4Ra B 314 F7 e vfowra Fd S 82
25%
A
25%
28%
B
28%
33.3%
C
33.3%

D 22%
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22%

Correct Ans : B
Subject : General Maths

Q.No: 70  Find the value of

2437507
2106.48 + 3296.52 + 8560.73 + 256.4 x 1.8 = ?
2106.48 + 3296.52 +8560.73 +256.4x 1.8=? &I AH I1d HX|
14343.65
A
14343.65
14429.25
B
14429.25
14425.25
c
14425.25
14444.65
D
14444.65

Correct Ans : C

Subject : General Maths

Q.No: 71 If in a symbolic language ‘FLOWER’ is written ‘ZZGKTCQ’ then ‘C’ will be written in the same language as?

2422556
Tfg et wichfas ST & 'FLOWER' &1 ' ZZGKTCQ' feral W a1 ' zZGKTCQ' &1 it T # ferar s forsy?
HPVRPD
A
HPVRPD
HVPRPD
B
HVPRPD
PRDVHP
C
PRDVHP
QZNPRS
D
QZNPRS

Correct Ans : B

Subject : Mental Ability

Q.No: 72 Ifin a certain code, RIPPLE is written as 613382 and LIFE is written as 8192. How is PILLER written is that code?

2426492

Tfe; U AT 18 § RIPPLE B 613382 3R LIFE BT 8192 iRl Sl §1 PILLER &1 $8 R W@ @ HI8 Q ?

318826
A

318826

318286
B

318286

618826
c

618826

338816
D

338816

Correct Ans : A

Subject : Mental Ability
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Q.No: 73 If in a certain code, WUHAN is written as XYVWIJIBCOP, How will CHINA be written in that language?

2434407

I v fAfYd Te 41 F, WUHAN ST XYVWIIBCOP & &0 # forar ol 2, ot St Ge oo § CHINA &t 39 feran smome?

DEIILDOPBC
A

DEIILDOPBC

MOILIJKOPBC
B

MOIJJKOPBC

DEIJIKOPBC
c

DEIJJKOPBC

DEIJJKOLOC
D

DEIIJKOLOC

Correct Ans : C

Subject : Mental Ability

Q.No: 74 In a certain code language, DEVICE is written as IBAFHB. How will ARTIFICIAL be written as in that language?

2434443
% R Fe ur &, DEVICE &1 IBAFHB & w0 ¥ ferar oirar 31 o 3t e w1 § ARTIFICIAL &1 H¥ ferar smem?
FOYFKFHFIF

A
FOYFKFHFIF
FYOFKFFHFI

B
FYOFKFFHFI
FOYFKFHIFF

c
FOYFKFHIFF
FOYFKFHFFI

D
FOYFKFHFFI

Correct Ans : D

Subject : Mental Ability

Q.No: 75 A'is 6 ranks ahead of B who ranks 22nd in a class of 30. What is A’s rank from the last?

2435339
A, B 6 R M §, St 30 ST &t el & 228 ®IF W 1 3(d Y A FT RIH RN 7?2
14
A
14
20
B
20
15
c
15
1
D
1

Correct Ans : C
Subject : Mental Ability

Q.No: 76 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435479 commonly facts and then decide which of the given conclusions logically follows from the given statements.
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Statements:

1. some pens are markers.

II. No pencils is markers.
Conclusions:

I. Some markers are pens.
II. Some markers are pencils.

III. Some pens are not pencils.

A1 Ru e uy & ) B SR IF w1 & ey 1, 11 SR 111 3T 1T §1 mut AU U Al Y e W 8, W € A e el @ e wdia 919 81 ok R q o 5 e n ey R e wer
e TG | SFER X 3

FUA:

1. 9 U9 Uiy B

11. % A whw T ¥
e

1. $O AGR T 8

I1. $© W R g1
111 T O R 78t &1

Only conclusion I follows.

e s 1 SERu B 1

Only conclusion II follows.

Fad fwpy 11 SRR e g

Both conclusions I and II follows.

ST s 1 3R 1T SRR 3xa B

None of the conclusions follows.

H18 1ft frep srERor e war 31

Correct Ans : D
Subject : Mental Ability

Q.No: 77 In question below are three statements followed by three conclusions numbered I, IT and III. You have to take the given statements to be true even if they seem to be at varia
2435539 from commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. Some buses are trucks.
II. Some trucks are trains.
III. Some trains are planes.
Conclusions:

I. Some buses are trains.
II. Some planes are trucks.

III. Some buses are planes.

=i 4 gy & 9 Fu 9IR Iu® ag i e 1, 11 @R 111 U e ) st AU Y el ) I A ], 1R 3 W i aul 9 e vdia g ], st i a5 § o g g s o
w1 e @Ifhs w9 F SFER T B

. $O &9 ¢ &
11 38 ¢6 &1 8
III. $8 & QA ¢
o

L $S I AT
11. $8 QF T §
111, $T 99 QA 81

None of the conclusions follows.

g 1 oy SR el e B

Either conclusion I or II follows.

1 Y e 147 11 SrgERY R B
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C vny conciusion 11 ronows.

Faq ey 11 SRR HRe B

Both conclusions I and II follows.

3Rt Frspd 1 3R 1T SR R &l
Correct Ans : A

Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 216 smaller and identical cubes by making the minimum possible number of cuts. How many smaller cubes have exactly three painted faces?

2438399
T T B P faan S 8 ok 216 B SR guE w # $re R S B, Rl a5 9 gran dya g8 81 e 918 w6 4 G 7 9 g vas §2
6
A
6
8
B
8
10
c
10
12
D
12

Correct Ans : B
Subject : Mental Ability

Q.No: 79 What is the maximum number of pieces into which a cube can be cut by 11 cuts?

2438427
TH O Bl 11 Bl & Bied W ifimad e goe e 81d 82
100
A
100
120
B
120
125
c
125
150
D
150

Correct Ans : A
Subject : Mental Ability

Q.No: 80 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439098 commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some toys are not dolls.
Some dolls are not pets.
Conclusions:

1. Some toys are pets.

II. No doll is a pet.

A e Ty & & Fou a1 9P Ta1a 3§ ISRy 1 a1 11 T T § | e Y T HuA &1 9 AT 8, M € 9% Sdaa qeli & firs Telia 81 8 a1 A SR TR SU! U I A E |
U

Do A 1 T €

o T U T ¢
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Ty

1. $o fam o )
11 S %A ura e 1

Neither conclusion I nor II follows

A e 1 3R 7 € 1T SR RaT

Both conclusion I and II follow

e 1 3R 11 G TR A |1

Only conclusion II follows

e e 11 SRR Ha &

Only conclusion I follow

Fad epy 1 SR Far §
Correct Ans : A
Subject : Mental Ability

Q.No: 81 1If dog is called cat, cat is called rat, rat is called tiger, tiger is called lion, lion is called fox, fox is called bear, and bear is called kangaroo. Who is the king of the forest?

2439212

I 1 P faceht gT W, facd B g1 T 9, T8 Y 919 gl WY, §19 ST IR Bl WY, IR B AHS! Bl I, WAL BT U1 H8T oY AR YT P SRS el Y| ST BT 6T HH 82

Fox
A

amgt

Lion
B

Rid

Tiger
C

TRR

Rat
D

el

Correct Ans : A

Subject : Mental Ability

Q.No: 82 If kitchen is called bedroom, bedroom is called drawing room, drawing room is called library, library is called servant room and servant room is called guest room. Where we cc
2439251 (y0q4?

I T FV A T Fg1 Y, T H&f B G & Fe1 A, JET H&f P! [ASTAT Hg1 O, THIBE B 2B B8 Fgl Y 3R TR Fef HI A Fef gl I g0 T Hal b 82

Bedroom
A
T hY
Library
B
TP
Servant Room
C
FR e
Drawing room
D

FIRT T

Correct Ans : A
Subject : Mental Ability

Q.No: 83 If ‘blue’ means ‘green’, ‘green’ means ‘white’, ‘white’ means ‘yellow’, ‘yellow’ means ‘black’, ‘black’ means ‘red’ and ‘red’ means ‘brown’, then what is the colour of turmeric?
2439281

I i &1 aef e, W B o T, iha B o e, i F1 o e, Fer 1 o e ofR ara F1 o R F, A g F 3 Har e 32

A Black
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Brown

Blue

e

Yellow

R

Correct Ans : A

Subject : Mental Ability

Q.No: 84 Which word comes first in the English dictionary?
2442736

1. Carrom

2. Carmming

3. Carrier

4. Cartoon

HI-41 Teg ST eaHhw A ued o 82
1. Carrom

2. Carmming

3. Carrier

4. Cartoon
1

4

Correct Ans : C
Subject : Mental Ability

Q.No: 85 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442777
Autonomous
fRw M dferes wedl # ¥ a5 Wea IAT S RT T Y F 1eRY T WENT R T S S el
Autonomous
Auto

A
Auto
Team

B
Team
Moon

C
Moon
Mats

D
Mats

Correct Ans : B

GET IT ON

Google Play
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subject : Mental Ability

Q.No: 86 If 13 girls can prepare 130 garlands in 5 hours, how many girls are needed to prepare 260 garlands in 1 hour?

2423721

Tfg 13 @gfdar 5 4 H 130 1A GOR X Gl &, df 1 8¢ H 260 A TR T & R et sl @t sraxgaar gl

150 girls
A

150 wsfeal

130 girls
B

130 TSfpar

110 girls
C

110 w3fpaf

120 girls
D

120 TefFar

Correct Ans : B

Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 17 days; B and C in 18 days and A and C in 20 days. In what time can they do it, all working together?

2423739
A SR B TF S @I 17 &l § 7R 9%d §; B 9k C, 18 fafi F 3R B 3R ¢, 20 fot H1 3 92t Uw Ty 0 FRA g 3D o wHg H HR WA 82
6120/503 days
A
6120/503 f&
8097/365 days
B
8097/365 T
6578/234 days
c
6578/234 f&7
9829/501 days
D

9829/501 f&F
Correct Ans : A

Subject : General Aptitude

Q.No: 88 Iftherectangle’s breadthis 22 cm and its area is 198 cm? then, calculate the rectangle’s length.
2426206

i amaa draiss 22 A 3R saeTamwe 198 A §, ar 3T fY wars AT )

25 cm

A
25 ¥R
34 cm

B
34 e
9cm

C
9 Ydfiex
16 cm

D
16 FéHfex

Correct Ans : C

Subject : General Aptitude

Q.No: 89  Which of the following is divisible by 8?
2427604
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THHICIRAd H 4§ @I 8 4 I19HIY g7

4329871
A

4329871

9845821
B

9845821

16082432
Cc

16082432

6798231
D

6798231

Correct Ans : C

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 6?

2427617
Frofifed & 4 o 6 I favwrsa 32
987626643332

A
987626643332
61257999752

B
61257999752
758888422896

c
758888422896
88265181919061

D
882625181919061

Correct Ans : C

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 12?

2427630
Frofifea § 3 o 12 3 fQursg 2
654218689

A
654218689
874323778

B
874323778
785423589652

c
785423589652
86589087421

D
86589087421

Correct Ans : C

Subject : General Aptitude

Q.No: 92 At present, the ratio between the ages of Arun and Deepak is 4 : 3. After 6 years, Arun's age will be 26 years. What is the age of Deepak at present?
2431185 FfyM #, oRr ok iU 31 oY F G $T U 4:3 B1 6 I T18, IR0 B 3G 26 Y Rl HuF F adAH H arg T 2

12 years.
A 12
B 15 years.
15 9
C

19§years
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19%31?

21 years.

D 21

Correct Ans : B

Subject : General Aptitude

Q.No: 93  The cost of two dosas and three idlis is Rs. 46. The cost of a dosa and two idlis is Rs. 26. Find the cost of four dosas and four idlis.

2431196
<) R 3R T g 9 DA 46 . ¥ TF S SR ) 330 B A 26 F. §1 IR SR 3R IR 33l B G 0 PR
Rs. 60
A
60 3.
Rs. 80
B
80%.
Rs. 100
c
100 %.
Rs. 70
D
70%.

Correct Ans : B

Subject : General Aptitude

Q.No: 94 Find the number which when multiplied by 13 is increased by 180 :
2431251 g GEH FId Y B 13 | 701 $39 | 180 | 9 oIl B

A
B i3
S
-

Correct Ans : B

Subject : General Aptitude

Q.No: 95 If ABCD is a rectangle. P, Q are the mid-points of BC and AD respectively and R is any point on PQ, then AARB equals:

2431323
If& ABCD TF 310d 31 P, Q HHT: BC 04T AD & HeAfdg & 94T R, PQ | 1§ 3 fg & <l AARB = ?
1
=(=ABCD)
A 1
= (=ABCD)
1
3 (cABCD)
B
> (cABCD)
1
< (=ABCD)
c 1
3 (=ABCD)
1
2(cABCD)
D 2
§(|:ABCD)

Correct Ans : C

Subject : General Aptitude

Q.No: 96 The circumference of a circular performance stage is 176 m. Find the its area?
2433740

T JAOR WS R0 B IR 176 e §1 5901 &700 I Bifo?
A 3342

GET IT ON

Google Play
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3342

2500

2500
2564

2564
2464

2464
Correct Ans : D
Subject : General Aptitude

Q.No: 97 A chord AB of a circle of radius 21 cm makes an angle of 60° at the center of the circle.

2433773 i d the difference between the areas of the major and minor segments of the circle?
FHT Brsar ate oF g AT SfraT B, 99 ¥ H3X I 60 AT RN ANATHT ) g9 F A3 AT
916
A
916
920
B
920
924
Cc
924
900
D
900

Correct Ans : C

Subject : General Aptitude

Q.No: 98 A two digit number is 4 times the sum of its digits and 2 times the product of its digit. Find the number.

2436198
T B Sl Bt W I ST F AT FI 4 0N T Sl &S OB $1 g o1 HBT I1d Bio|
54
A
54
18
B
18
45
c
45
36
D
36

Correct Ans : D

Subject : General Aptitude

Q.No: 99  Number of composite numbers lying between 67 and 101 is

2444621
67 3R 101 ¥ &9 ot Wsw gem 82
27

A
27
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24
26
C
26
23
D
23

Correct Ans : A

Subject : General Aptitude

Q.No: 100 What should come in place of question mark ‘?’ in the following number series?

2444703
8, 14, 24, 40, ?
Frfafed v 8 v fog (2) & ®H W 31 smm?
8, 14, 24, 40, ?
A 96
96
65
B
65
71
C
71
113
D
113

Correct Ans : B

Subject : General Aptitude
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